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Research Entrance Test — 2017

No. of Questions : 50

Time : 2 Honrs Full Marks : 200

Note: (i) This Question Booklet contains 40 Multiple Choice Questions followed by

10 Short Answer Questions.

(i) Attempt as many MCQs as you can. Each MCQ carries 3 (Three) marks.
1 {One) mark will be deducted for each incorrect answer. Zero mark will be
awarded for each unattempted question. 1f more than one alternative

answers of MCQs seem to be approximate to the correct answer, choose the

closest one.

{iii} Answer only 5 Short Answer Questions. Each question carries 16 (Sixteen)
marks and should be answered in 150-200 words. Blank 5 (Five) pages
attached with this bookiet shall only be used for the purpose. Answer each

question on separate page, after writing Question No.
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Plant Physiology Code No. -

1.

10.

11.

749

Which lime is referred to as quick lime ?

(1) CaO (2) Ca(OH}),

(37 CaMg(CO.), (4) CaCO,

Qoze test is done (o detect ;

(1} Bacterial disease (2) Fungal diseasc
(3) Viral discase (4) All of these

For test of goodness of fit, which statistical test is applied ?

(1} 57 test {2) 'F test

(3} 7 test {4) 't test

Farm management is an !

{1} Intra-farm science (2) Inter-farm scierce
{(3) Inter-regional farm science (4) International farm science

The term "Ever Green Revolution™ was given by :

(1} RS Paroda (2} V. L.Chopra

(3) Norman Borloug (4) M.5 Swaminathan
"Cperation Mood” is related o

{1} Ruwe {2} Fish (31 Milk (4] Oilseeds
During prophase-l of meiosis crossing over oceurs al ;

(1} Zygotene (2) Pachytene

(3} Diplotene (4} Diakinesis

Larva of buttery is known as ;

{13 Grub (2} Nymph (3) Catterpiller (4] Maggot
Marginal product is ratio of

{11 Input-Output {2) Outpul-Input

{3 Cost-Income (4) Price-Income

Mencel did not work on which of The following ?
W Plant heght in pea (2) Seed volour in pea
131 Pod number in pen {4) Pod size inpea

When a parl of plart orpgan of tissue 15 pui on a culture media and mamiamed
ungder optimum growth conditions, the menstematic cells de-ditteren®iate and

proliferate to form a mass of cells called
th Callus

(2} Embryo
(3] Embryoids (4) Skool
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12. Chlorophyll and carotenoids are .......... in water and can be extracted only with

........... solvents :
(1) Soluble, inorganic {2) Insoluble, water
{3) Isoluble, organic {(4) Soluble, water

13. Rieske centreis:
(1) Core complex | (2) D1 Prolein
(3) Cytochrome b.-f complex (4) LHC

14. When a short day plant (SD) and a long day plant (LD}, both kept under
favourable conditions for flowering, are exposed to a short flash of red light in
the middle of the dark period :

{1) Both 5D and LD plants will flower
(2) Both 5D and LD plants will remain vegetative
(3) SD plant will remain vegetative and LD plant will flower
{4) SD plant will flower and LD plant will remain vegetative
15, Which of the following plant hermone is incorrectly paired with its function ?
(1) Auxin-responsible for apical dominance
(2) ABA-regulates the rate of ranspiration
(3) Cytokinin-delays senescence {aging and decay)

(4) GA-promotes bud and seed dormancy

16. Match the List-I with the List-II and select the correct answer usign the codes
given below the lists :

List-I (Sctentist) List I (Contributions)
A. Alexander Resuss 1. Principle of electrophoresis
B. Always 2. Hygroscopic coefficient
C. Alwine 3. Northern blotting technique for
RNA separation
2. Arnon 4. Discovered photophosphorylation
E. Arnon and Stout 5. Criteria of essential elements
(1) A-1,B-2,C-3, D4, F-5 (2) A-1,B-3,C-4,125,E2
(3) A-4, B-1, C-2, D-3, E-5 (4} A-4, B-2, C-3, -5, £-]
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17. Match the List-1 with the List-TI and select the correct answer usign the codes
givin below the lises

List-I (Terms) List 11 {Significance}
A I protemn l. Phioem protein
B. P-ATPase 2. lonpump
C. P-protein bodies 3. Photosystem [
D. Pa8l 4. Spindle shaped
E. P70 5. TPhotosystem 1
(1} A-1,5-3,(C-4,D-5, k-2 (2) A-1,B-2, C-3, D-4, E-5
(3) A-4,B-1,C-2, D-3, E-5 (4) A-1,B-2,C-4, 123, E-3
18. Rate of photosynthesis ... when sink /source rabio is increased :
(1) Declines (2} Increases
i3 Not affected {4) First declines and then increases

19. The first intergeneric hybrid (pomato) between pofato and tomato was
demonstrated by :
(1) Melchers  (2) Zelcer (3) Nitsch (A} Muir

20. Which of the following is an importanl sources of methane emission in the
atmosphere ?
(1) Degraded forests 12) Wetlands
(2} Thermal power generator (4) Wheal ficlds

21, leaf arca index which intercepts 95% of the incident light radiation an a clear
sky day s lermed as ¢
(1} Optimal leaf aves index {2y Critical leal area index
(3) Ceiling leaf area index {4) Potential leaf area index
22. Which of the ollowing statement is correct for role of ABA in stomatal
movement ?
{17 ABA canses fﬂp!".-ﬂlar'izeitiun of Euun.l cells
(2} ABA causes polarizalion of guard cells
(31 ABA causes efflux of Ca™ from guard cells
(41 ABA efflux of water [rom puard cells to aploplasm through plasmodesmata

o 1t ol el

23, Which «l the [ollowmyg plant growth phase is aiso called as exponential phase

(1) Lag phase (2) Log phase
{3) Congtant growth phase (4) Decline phase
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24. The conserved core of dehydration responsive element {DRE) in cold regulated
gene has a sequence of :

(1) CCAAC (2) CCGGC
(3) CCAGC {4) CCGAC
25. Which of the following is the immediate precursor of cellulose biosynthesis in
plants ?
(1) ADPG (2) UDPG
(3) GDPG (4) Glucose-1-phosphate

26. Which of the following is the term used for emission of a photon of light as an
electron relaxes from the first singlet excited to ground state ?

(1} Thermal deactivation (2) Phosphorescence
(3} Fluorescence (4) Inductive resonance

27. Which of the following is the range of photosynthetically active radiation for
plants ?

(1) 406-700nm (2) 240-700 nm (3) 400-660nm  (4) 450-600 nm

28. Which of the following genome(s) encode for large sub-units of RUBISCQ ?
(1} Nuclear genome
(2} Mitochondrial genome
(3) Chloropiast genome
(4) Both Chloroplast as well as mitochondrial genomes are involved

28. The C/N ratio of majority of the crop plants is :
(1) 5 (2) 10 (3) 20 (4) 35

30. What term is being used for intervening period belween the sequential
emergence of leaves on the main stem of a plant ?

{1) Plastochron index (2) Phytochron index

{3) Leafindex (4) Phytochrome index
31. Seed priming with the KNQO, is termed as :

{1} Hydro priming (2) Matri priming

(3} Osmo priming {4) Halo priming

32. The sugar which can freely diffuse through the plasmodesmata from the
companion cell to sieve tube elements :

(1} Fructose (2] Sucrose
(3 Lactose (4) Ribulose
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33. Mass tlow hypothesis was given by :
(1) Ernst Munch (2} Joseph Priestly
(31 Jan Ingenhousz (#) C.B. Van Niel
34. Chloroplast dimorphism is found in the leaf of ;
(1} Spinach {2) Soybean
(3} Sorghum {4) Wheat

35, RuBisCO enzyme is correctly named as ;
(1} Ribulose bisphosphate carboxylase /oxygenase
(2) Ribulose-1-3-bisphosphate carboxylase/oxvgenase
{3) Ribulose biphosphale carboxylase /oxygenase

+4) Ribulage-1, 5-hiphosphate carboxvlase /oxygenase

36, Substrate level phosphorylation is present in
(1) Pigment system ] (2) Krebs Cycle
{3) Pigment system ! (4) Glycolysis
37, For photolysis of water the following essential elements is necessary
th My (2) K (3) Mn (4) P
38. What will happen mside the plant syslem if a plant tissue is kept in a saline
suiution ?
(1] Water potential will decrease but solute potential will increase
(2} Water polential and solute potential both will decrease
(3) Water potential and solute potential both will increase
(4) Water potential will increase but solute potential will decrease
39, Methuomne is the precursor of
(1) Auxin biosvnthesis (2} Ethylene biosynthesis
(3 Gibberellin biosynthesis (4) Cylokinin biosynthes:s
40. Water diffuses from cortex o sieler region throngh -
{1} Passage cell (2) Casperian strips of Endodermis

(3] Sieve tube element {4) Xylem vesseis

RET/7/Test B/749 (6)



Attemipt any five questions. Write answer in 150-200 words. Each gquestion carries
16 marks. Answer each guestion on separate page, after writing Question Number.

1.

10.

Describe the process of somatic embryogenesis elaborating various events and
factors governing it.

Briefly describe any two of the followings

(1) Hormonal control of seed germination

{ii} Role of Phytochrome

{iii) Haploid production in vitro

(iv) Madified Atmospheric Packaging

Atternpt the followings (any two) :

(1) Role of Transmembrane Potential in ion uptake

(ii} Effects of low temperature stress on membrane permeability

{iii) Cybrid

Write down the working principle of the following instruments :

{a) Spectrophotometer

(b) Flame photometer

Differentiate between the deficiencies caused by mobile and immobile essenhal
plant nutrients in plants ? Write the deficiency symptoms and physiological
roles of Mn and B in plants.

Write :

{a) One reaction of glycolysis where ATP is generated

(b} One reaction of carbon reduction pathway where TPP is involved

(c) One reaction of TCA cycle where CoA-SH is involved

{d) Reaction of C, pathway where ATP is converted into AMP

{e} One reaction catalyzed by PEP-carboxy kinase

What are different ways by which water-use efficiency (WUE) is defined by
agricultural sdentists ? Explain effect of different plants and environmental
factors in regulating WUE in plants and methods to improve it,

Write a note on the structure of chloroplast highlighting about ATP synthesis.

Write a note on epigeal and hypogeal germination. What are various lests to test
seed viability ?

Schematrically represent the biosynthesis of ethylene hightighting key roles of
cthylene in plants. " i
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